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A EAA
H: HHE2IAH(E2HL)
el 23 H(EAA) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O EAXA EJIHHE ez
26,000% 1302 = 123l 4,056
O BAXNAL SASXEY
20,000 » 5¥A » 1304 A 1,300
O E2XA SA € Zely |22
200,000 * 1302 2,600
O EAXNA BRH KX 22l
30,000 » 40CH * 23] 2,400
O BdlisEd2AEETHY 2,808
— e 9,000 » 1342 = 123 1,404
— ABIHEH 9,000 * 13 A = 128 1,404
O FE&I| (MYH) RXE==Hl  4,500,000%14] 4,500
O B4 & B2HX4 &Y g2+
500,000+ 12& 6,000
O BAHXA 230 53 20,000%200 1301 2 520
O CCTV ¢thHe 110,000* 122 1,320
02 2B 307,970 307,631 339
O =24 FIGFFHAM B2
160,000 * 12& 1,920
O HoHelE AelbiolE FI1& At
180,000 * 12& 2,160
O Aot 3| 100,000 * 13l 100
O 48 HMEH HAHZ 1,300,000 * 12l 1,300
O 233tz A 10,000 * 50& * 23 1,000
O d.uedg 2ddes F(BR)
1,851 = 20,0002| & 37,020
O 22 sXA&clbl 900,000 * 23] 1,800
O ZEBACIN S22yl
1,384%4002| B » 1501 A x400 & 33,216
O 2adzs A2 KA 5,500,000 14! 5,500
O Bd42d=s "7 6,060+2,266m * 1/2 6,866
O XX A=HI(130h) 63,307
— SE(L2AMLYE)
2,036 1102l & =10CH = 123 26,876
- &8 1,851 » 2502l &+ 1CH » 123 5,553
S =P 1,851+70Cl EHA =10+ 123 1,555
- g 1,851x1502| Ef «2CH x10E 5,553
— X0l xHE 1,851%8002| Ef «1CH 128 17,770
— XEsA 2l & +cldl  400,000%150H 6,000
O XS XAl (150H) 200,000+ 1504 3,000
O N3 FIEAN =2 30,000 * 9CH 270
O UAsiEES 450,000 = 15CH 6,750
O EAA R03H 9= 150,000 * 128 1,800
O E2Xa f3H 849&
140,000% 134 &+ 128 21,840

_39_




A EAA
H: HHE2IAH(E2HL)
el 23 H(EAA) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O B4 A2z |KAEH
200,000 » 12 2,400
O E2da 428 =4S
10,000 * 504 * 122 600
O 22ANL RUEYE 243
10,000 = 134 = 128 1,560
O EAXNA FeXxX=1g
50,000 * 1304 = 23] 1,300
O B2XA &It A A &3l
50,000 * 1304 = 23] 1,300
O Bada, BAXA A= &H X2/l (X
) 5,500,000% 14! 5,500
O BAXL &= AEZ
20,000 * 50 A + 128 1,200
O SgHsT Fal 1,080+4000H 122 5,184
O BaAXla &8RS 350,000% 13 & +12& 54,600
O B2XA FALSX 2l 8,000,000+ 14 8,000
O BaAXx dtAER
50,000 * 1302 = 123 7,800
O 284 HIl= A€ HMeldl 18,900
- BN 180,000 » 104 » 128 2,160
- BAd= A 45,000 * 18002 = 123 9,720
- BAXx 45,000 *» 1302 = 123 7,020
O BdXla 27 250 = 500& * 13004 1,625
O 22 gAJ/2 Maxeldl  3,500,000%12] 3,500
O =223IJ )X 2cldl 410,000% 102 4,100
O MEXNZA AHY 23 35,000+ 12 420
O B2A a2 A8IHE = 22/l 2,132
— AEJE ©ZD| JrYE el
11,000+ 123 132
— MEIE = =8 100,000, 000%2% 2,000
202 Oddl 178,800 178,800 0
01 = LH 4 Hi 43,800 43,800 0
O J12 2ot 27,600,000 27,600
O 283 223U AHH 840,000& 840
O BAAL ZSEAHAAA FUHOH 5,280,000 5,280
O BaAXla SSEAAM FUHAHLI
10,080,000& 10,080
02 N0 135,000 135,000 0
O BdaXla,dzs A AN
250,000%45Q1«12& 135,000
Jl2 2o geer) 28,440 28,440 0
201 L4l 8,400 8,400 0
01 AFR 22l 8,400 8,400 0
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